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1H NMR (400 MHz, CDCls)
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'H NMR (400 MHz, CDCls)
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1H NMR (400 MHz, CDCls)
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H NMR (400 MHz, CDCls)
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'H NMR (500 MHz,|CDCls)
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'H NMR (400 MHz, CDCls)
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'H NMR (400 MHz, CDCls)
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1H NMR (400 MHz, CDCls)
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'H NMR (400 MHz, CDCls)
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'H NMR (400 MHz, CDCls)
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1H NMR (600 MHz, CDCls)
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'H NMR (400 MHz, CDCls)

€12ad 9L —

3

=

860

Hfo .
RNery

860

T

01|

0.0

0.5

1.0

1.5

2.0

2.5

3.0

3.5

4.0

4.5

5.0

5.5

6.0

6.5

7.0

7.5

8.0

¥'o1 —

T°9C ~
0L~

8'vE —
€L —

6'C9 —

v'L9 —

LYl S
'8 —
618 ~\_
8'€8 ~_

S'98 AN

0'TTT —

170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10
13C NMR (101 MHz, CDCl3)

180

S-170



I

'H NMR (400 MHz, CDCls)
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1H NMR (400 MHz, CDCls)
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'H NMR (400 MHz, CDCls)
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'H NMR (600 MHz, CD;0D/CsDsN 1:1 (v/v), t = 30 min)
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30 min, immediate transformation of 2ab to 55ab and 54ab)

1H NMR (600 MHz, CD;0D/CsDsN 1:1 (v/v), t
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1H NMR (600 MHz, CD;0D/CsDsN 1:1 (v/v), t = 1 h)
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'H NMR (600 MHz, CD;0D/CsDsN 1:1 (v/v))
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13C NMR (151 MHz, CDs0D/CsDsN 1:1 (v/v))



HSQC of 54bb
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'H NMR (600 MHz, CD;0D/CsDsN 1:1 (v/v), t = 30 min)
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'H NMR (600 MHz, CD;0D/CsDsN 1:1 (v/v), t=6 h)



'H NMR (600 MHz, CD30D/CsDsN 1:1 (v/v),
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13C NMR (151 MHz, CDs0D/CsDsN 1:1 (v/v))



1H NMR (600 MHz, CD;0D/CsDsN 1:1 (v/v))
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1H NMR (600 MHz, CD;0D/CsDsN 1:1 (v/v))
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HSQC of 54aa
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'H NMR (400 MHz, CDCls)
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13C NMR (101 MHz, CDCls)
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'H NMR (400 MHz, CDCls)
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